PART-1: IRgagg_mng_Abihty__
Direcﬂﬂns (1-5) :
answer the given questions.

Eight people— A, B, C, D, E, F, G and H are sitting.around a

 circular table facing the centre, not necessarily in the same
order. Three people are sitting between A and D. B 1s sitting

second to the right of A. C is sitting to the immediate right of

F. D is not an immediate neighbour of either F or E. H is not
~ an immediate neighbour of B.

.. What is E’s position with respect to G ? |

(1) Third to the left (2) Second to the right
(3) Third to the right (4) Second to the left o
(5) Fifth to the right |

. Four of the following five are alike in a certain way based on
their seating positions in the above arrangement and so form

a group. Which one does not belong to the group ?

(1) GE (2) DC.
(3) AF (4 AB
(5) CE

. Who is sitting third to the right of the one Wht’.} 1S 51ttmg to -

the immediate right of H?

(DA (2) B
(3)E (4) C
(5) G

. Which of the fﬂilﬂwmg is true regarding the given
arrangement ?

| (1) E is second to the left of C

(2) B is an immediate nei ighbour of G

(3) H is an immediate nel ighbour of A

(4) D is not an immediate net ghbnur uf H

(5) None is true

 How many people are sitting bETWEEH H and A When

counted from the right 51de ofHY ©

(1) Three '

(ﬁ) None

(3) More than three

{4) One '

(5) Two

Study  the fﬂﬂﬂwmg mfﬂﬂnatmn fo

| ';Dlrectlﬂﬂs (ﬁ-lﬂ) In each gf rhg Q’HE?SHGHS be!fm i) |

10. _'Statements No place 13 a tank Sﬂme places are venues.

| Cunclusmns

| Dlr&cﬁﬂns (11 15)

. be hﬁ:i_lgl_m one da y_"”’finiy

'Seven I}la,’}’s LN
. consecutive 'd

" statements to be true even zf rk_'_j___-.; i:ﬂ_fsem to be at variance froy

......

the- commonly fnown facts:and: f&en decide which of t, |
given conclusions - logically. :zi;?___;j,law,sr from the oivey |
statements d:sregardmg the Cﬂﬁ;ﬁiﬂﬂfy known facts.

Give answer :

(1) If only conclusion I follows

(2) If only conclusion II fﬂllmws

(3) If either conclusion I or II follows
(4) If neither conclusion I nor 11 fGH{}WS

(5) If both conclusions I and II follow

Statements : Some forms are cards. Some forms are papers
Conclusions :

I. Atleast some cards are forms.

I1. Atleast some cards are papers.

Statements : All animals are predatﬂrs Al predators are |
tipers,
Conclusions : S
I. All tigers are definitely predatﬂrs
II. All animals are tigers. -

e

. Statements : All squares are .circ-ies. No circle is a tnangle.
- Conclusions :

I. No square is a triangle.
I1. All circles are squares.

. Statements : All bricks are walls. Some bricks are pillars.

Conclusions

I. Some pillérﬁ are walls,
IL. All pillars are walls.

1. Some venues are ta;nks
1§ 5 Al plaws are venues

Sf“dy ﬂle fﬂlluwmg mfﬂrmﬂfi”ﬁ &
GHIWer: f"’fﬁ? EWEH quﬁmﬂns |

B C }3 E F and G'are to be held on sever

Sunday) ﬁﬁiﬂé; ; anly in't

0331 o PWG plays will be held after plaﬁf (13
3’ N :‘3%1913-}'5 Wlﬁ i}e held between play F and play /0%




- ghree plays will be held between play B and play E. Play B
will not bo held on Sunday. P lay A will be held before play D
-Laﬂdipla}' C (not necessarily immediately before). Play C will
be held after play D (not necessarily immediately after).
__Play D will be held on whu,h day ?

(1) Monday (2) Tuesday
. (3) Wednesday (4) Thursday
:_. N (5) Sai’lil‘dﬂ)'

o
"
m
50
Y
S
o
T 4
e

15.

19 Statements : C <D < E D > F Py (.r
| Conclusions : 1. C2G

 between different elements is shown in the statements. These

_sSMementQ H>1>J>KiL <M< K
“Conclusions : L. I >M

Whlﬁh play will be held immediately after play Ci?
| | (2) Play F
| (4) Play G
(5) Nﬂne of the:se
Jcplay will be held on Monday ?
(1) Play F (2) Play B
(3) Play E (4) Play D
(5) Play A

If all severt plays are held in the alphabet:§51 order of their

names staring on Monday and ending on Sunday, the |

positions of how many will remain unchanged as compared to
the original schedule ?

(1) Three (2) More than three
g; ?ne Td (4) None
| WO

1

Play F is related to Monday in a certain way based on the
given schedule. Similarly, play G is related to Thursday. In
the same way, play B is related to which of the following
days T

(D Wednesday

(2) Friday
(3) Tuesday (4) Saturday
(5) Sunday

Directions (16-20) : In these questions, relationships

statements are followed by two conclusions.

Give answer :

(1) It only conclusion I follows

(2} If enly conclusion 11 follows

(3) If either conclusion | or conclusion I foliows
(4) If neither conclusion I nor conciusion I follows
(5) If both conclusions I and Il follow

:N>202zP=Q>R
Conclusions : I. N>R

| ILR=N
Statements : WXcY= =7 > A, W{B
leusiﬂns IL.B>Z
| 1. W <A

Statements

il. Lf::H

ILF>E

L [T rE T —
- =

21.

22.

| 24. Is the time in the clock 9 0‘(:113-::1( now ?

_Zl} Statements R}S}T:}U, N%ﬁ"

Conclusions : 1 VaU
[l. V<R

- _..Dlrectlﬂﬂs (21-25) : Each of the que.srmm* below consists of
a question and two statements numbered [ and II given

below it. You have to decide wherher the data provided in

 the statements are ?uﬁtc:enr to mfswer the question. Read

b.::rth the Sfatemenm and ;.

Give answer ;. _
(1) If the data in statemmt I alnne are suff“ cient to answer

the question, whlle the data in statement 1 alﬂne are H{}t
 sufficient to answer the question.

__ | (2) If the data in statement 11 alone are sufﬁcient to answer

the quéstion, while the data in statement 1 alone are not

~sufficient to answer the question. .
(3) If the data either in statement I alone or 1n statement 11

alone are sufficient to answer the questlﬂn
(4) If the data even in both statement | and I1 tﬂgether are

not sufficient to answer the question.
(5) If the data in both statements | and I tngether are

necessary to answer the question.
Which bag amongst P, Q, R, S and T 1s the heaviest ?
I. Bag QQ.is heavier than R and 8. Bag T 1s heavier only
than bag P. -
I1.-Only three bags are lighter than R. The weight of bag Q
18 30 kg which 1s 2 kg more than bag R.
Are all the five friends viz. A, B, C, D and E who are seated
around a circular table facing the centre ?

I. A sits third to the left of B. B faces the centre. D and E

are immediate neighbours of each nther C sits second
toright of E.
. D sits second to right of C. C faces the centre. Both E

and A are immediate nmghbﬂurs of D. B sits second to
right of A.

- Inacollege five different subjects, viz. Physics, Chemistry,
~Botany, Zoology and Mathematics are taught on five

different days of the same week, starting from Monday and
ending on Friday. Is Chemlstry taught on Wednesday ?

I Two subjects are taught between Zﬂﬂlngy and
. Mathematics. Mathematics is taught before Zﬂﬂiﬂgy
- Chemustry is taught on the day immediately next to the

day when Physics 15 taught Botany 1s not taught on
Friday. -

H. Three lectures are scheduled between the lectures of

- Botany and Zﬂﬂlngy Mathematics  is taught
munedlately before Physics. . o

I. After half an hour, the minute and the hour han::is of the
clock will make an angle of exactly 20° with each other. |

ML Exactly 15 minutes back, the hour and the minute’'s

28

hand of the CIDE]( coincided with each nther
Is F the grand daughter of B |

I. Bj is the father of M M is the sister of T. T IS the mother of F.

._-[] S is the son ﬂfF V is the daughter of F. R et _-

of T.



26.

27. Which word/mumber would be at 7th pns:tmn from the left

28.

4n Step IV ?

(1) base (2} at
(3) 35 (4) the
{5} 53

(A) B 150 planes not only have low operating costs than

of mput am:l rearrangement. {All the numbers m ; digit
ttmnbemmdm&mmged&ﬁwmlﬁ@cmgﬁﬁe
value of the number .}

Input wmﬁﬁﬁ%b&ifm‘iﬁhzmzﬁligiwm
Step I : 93 56 32 bat for 46 him 28 11 give chance win
Step I : 11 93 56 32 bat for 46 28 give chance win him

Step HI : 56 11 93 32 bat for 46 28 chance win him give
Step IV ; 23561193321}@!%%%%@%3’@
Step V 4«62856119332%%131{1}@%%‘@&&%
Step VI : 32 46 28 56 11 93 win him give for chance bat

given input.
Input : fun 89 at the 28 36%%@3553%&63

(All the numbers given in the arrangement are two-digit
nurmbers),

Which of the following would be the Step 117
(1} 89 fun a1 28 16 base camp 35 53 here 68 the
{2) 35 53 28 68 16 89 the here fun camp base at
(3) 16 B9 at fun 28 camp base 35 53 68 the here
{4) 53 28 68 16 89 35 the:hereﬁmcampbaseax
(5) None of the above

Which step number would be the following output ?
53 28 68 16 89 at 35 the here fun camp base

(1) 111 (2) There will be no such step
(33 I1 (4) V
(5) 1V

Directions (29-32) : Study the following ugﬁ}mﬂan and the
sentences (A), (B}, (C), (D) and (E) given below it carefully and
answer the questions which follow.

A host of foreign companies are in talks with the Indian
government for selling B 150, a tough, short hanl plane ideal
for connectivity of smaller towns which is lacking in India at
present.

o Tt

competing planes like Cezana but also a much better track

record in terms of safety and efficiency. ‘
(B) The profit margin of road transport operators in the

smaller towns connected by B 150 planes has been

reduced substantially as 2 majority of people prefer air
transport over other means of transport.
(C) Smaller towns, at present, are befter connected by mads

and railways as compared to flight services, .

Rk & T
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31.

32.

33. What is the code for m’ 2
(1) sha ..{2) ba
(3igi - (@) ma
(5) Cannot be detcnmﬂed -
34. What does *fa” stand for 2
Ll thougim (2) mszghts
(3) new {4)and
{5) salut!ans _
35. ‘fafo ba’ could be a code for which 2
(1) thoughts and action e

Which of the statements (A}, (B), (Ch, (D) and ;
wentioned above would weaken the offer made by
z £ _-;-:::.;.;:;“._-;._;=:;‘-;=...__....55__ fm' Mfﬁﬂg B §5ﬁ ﬁﬁw gﬁ iﬂu&.,..

(2} B
4;D

Which of the statements (A). (B), (C), (D) and = |
mentioned above represents 2 possibie consequence of 7= |
success of B 150 planes in smaller ciftes ?

(1) A 2; B
(3;C (4) D
(SHE

Which of the statements (A}, (B), (C), {D) and (E) wouls
favour the foreign companies bid to sell B 150 planes -
India?
(1} Only A

{23 Oniy B
{3} Both B and C {4}B&thﬁa3d{)
(5} Both E and C
mrum {33-38} : Studjﬂ the Joliowing information 1 :5
answer the given questions. - ;
In a certain code, '

‘always create new ideas’ !5%3&335 ‘ba i sha gi’,
‘ideas and new thoughts’ iﬁ‘mmgs‘faglME
"create thoughts and insights’ is written as ‘ma jo ba fa’ and
mﬂﬁﬂbﬁﬁﬂﬁﬂhﬁ!m w%w*hntﬂfa

(2) create and § mwate

(5) always better j oy



(2) i
_ 4) f
- (5)ba _ o
: 5_.:' %j. h ﬂf th ; ; . 3
'53&5355%5%:-@3&&?’ : ¢ following ma}i represent ‘insights always
. {;) .;; ki to 2)kitori
{3)shajon (4) to sha jo
.. {5) sha to be
38. What is the code for ‘thoughts® 2
o ()ma (2) fa
. Gyba o ) jo
(5) Either jo or fa
39. Sfﬁd}" the following information 1o answer the given
guestion. -

ﬁliiexisting and upcoming hotels within the 5 km radius of
nanﬂn_al parks and sanctuaries in India will have to pay 30%
of their annual turnover as tax to the government.

Whjch of the t_“t}llﬂwing statements can be inferred from the
facts/ mformation given in the above statement ?

(1) The tax collected from the hotels will be used for upkeép
of these national parks and sanctuaries.

(2) Hotels which are sponsored by the government will not
have to pay any tax even if these are located within the
5 km radius of such wildlife hotspots.

(3) Ecnsystemn of the national parks and sanctuaries is
adversely affected even if the hotels are located outside
the 5 km radius.

(4) Government allows the construction of hotels within
5 km radius of national parks and sanctuaries. '

....

eco-tourism and perk up revenue collection of State
governments. |

<. which follows. -
...~ Tenants” associations have demanded a ‘vacancy tax’ on ali
_ vacant and unsold flats in Mumbai,

. the tenants’ associations 7

- easier to evict tenants who default on rent payment.

~(2) Such a tax law would be difficult to implement as it
"~ would be difficult to record the number of vacant flats in
:f:':.'_.'- the Git}’. .

© (3) People with surplus money buy many houses and rent
| these out while many consumers cannot afford even
+  their first house. 5 =

fif;;:f'f{d) The number of vacant flats in Mumbai is much lower
 than other metros such as Delhi and Chennai where
. yacancy tax already exists.’

-(5) Such a tax would compel the house owners to sell/rent
properties which in turn would control hoarding and sky

rocketing of property prices.

(5) Such a step is taken by the environment ministry to boost

. 4& Study the following paragraph and answer the question

 ‘Which of the following would support the demand made by

]
]

(1) House owners too have demanded for laws that make it |

» Directions (41-45) : Study rhe following information o

41.

42.

43.

44,

45.

40.

47.

answer the given questions.

Eight people - J, K, L, M, N, O, P and Q are sitting around &
circular table facing the centre, not necessarily in the same
order. O is sitting third to the right of M. There is only one
person sitting between M and J. There are only three people
between J and K. P is an immediate neighbour of J. There
are only three people between P and L. N i1s second to the

right of P.
Which of the following 1s true regarding the given

arrangement 7
(1) M is an immediate neighbour of K

{2} N is an immediate neighbour of J

(3) P is second to the left of O

(4) There are four people between N and O

(5} None is true _

Who is sitting second to the left of the one who 1s sitting

“second to the left of Q ?

(DM () K
(3) N (4) L
(5) ] |

Four of the following five are alike in a certain way based on
their seating positions mn the above armangement and so form a

group. Which one does not belong to the group 7

(1) PQ (2) KL
(3) MN (4) QO

(5) KO

What i1s N’s position with respect to K ?

(1) Second to the left {2) Second to the right
(3) Third to the left (4) Third to the nght
(5) Fourth to the left

How many people are sitting between K and P when
counted from the right side of K ?

(1) One (2) Two
(3) Three (4) None
(5) More than three

Directions (46-43} . Smdj} fﬁE fﬂﬁ{}Wfﬂ o iﬁf{}mﬂ tion io
answer the given questions. : -

A is.the mother of B, B is the sister of C, D is the son of C,‘E 1S

the brother of D, F is the mother of E, G is the granddaughter
of A. H has only two chiidren - B and C.

How is F related to H ?
(1) Son-in-law |

]

(2) Daughter-in-law

(3) Father-in-law (4) Granddaughter
{3) Cannot be determined '

How 1s C related to E ?

(1) Father | (2) Son

(3) Mother (4) Cousin brother
(5) Cannot be determined

Who is the mother of G ?

(1)C - (2)B |
(3) F‘ e (4) Either B or F
(5) Either C or F



FAN 'HOP e
(NOTE : The words formed after performing the giveri "
operations may or may not be meamngfu! En ghsk words.,)

Ifthe positions of the first and second letters of all the words | '_ |
~ are interchanged, how may words will form mea.nmgful &

49.

30.

31

32,

53.

54.

.....

the f ve :kree-Ietfer wards given below :. - fff .
"GET CUB MID a: i~

english words ?

(1) Nm}a (2) Three

(3) One - {4) Two

(5) More than three _

If all the letters in each of the wnrds are arranged

alphabetically (within the word), how many words will
remain unchanged ?

(1) Two (2) Three
(3) One | (4) None
(5) More than three

PART - II : English Language.

Directions (51-55) : Which of the phrases (I ), (2), (3) and

- (4) given below each sentence should replace the phrase

printed in bold in the sentence to make it grammatically
correct 7 If the sentence is correct as it is given and no
correction is required, mark (5) as the answer.

Seeing that there was an ongoing sale in one of her favourite

stores, Seeta made a bee-line for it immediately after entering |

the Mall.

(1) made a bee’s line for
(3) made bee-line to

{5) No correction reqﬁiréd
sharon made it to wﬂr}g in the nicks of times, or else she
would have missed the meeting. |

(1) nick of time {(2) nicked time

{(3) nick of timeliness {4) nick and time

(2) make bees lined to
(4) make bee-hne to

(5) No correction required

Varun was on cloud nine after havmg stood first in his
class.
(1) in ninth cloud (2) on nine-clouds

(3) a cloudy nine (4) clﬂud--:}n nine -
(5} No correction required

Vithal had a habit of pass the i}uck when it came to

important issues at work.
(1) pass to buckmg

- (2) passing buck

a5

(3) passing the buck

(4) pass buck
(5) No correction required

Puneet raked his brains and fried to find an answer to a tricky -

question given in the paper but Cﬂﬂiﬁiﬁﬁt find one.
(1) rake his bram '
(2) racked his brams

(3) racked brains

(4) raked brain

(5) No correction required

;5?};%%11imﬁnns (S(i-ﬁﬂ)

;_f e ,gen tences / gmup of sentences: (A ) (B) {C); ( D), (E), (F )

L :i'::-?z;:i;;- : G) .-;md (H) in r}zﬁ prﬁper Sequence to farm a meanin ofi]
pamgmph If;en answer the questions given' below them,

Rm:rmnge rke %'i??_'_:ﬁﬂawmg eigh;

( “ff_%)g=§:{_':_fm-1ng the examination the znmgﬂamr nﬁtmed the chig
and despite Rajesh’s plea fﬂr lﬂﬁﬂﬂﬂﬂﬂﬂ asked him 1
leavﬂ the éxamination hall. e

(B] A.t thls point ] Ravish reahsed hls nustake a,nd felt gyl ty,

- so° he 1m.medlately canfessﬂd hlE nnﬁd??d o the

mvigﬂatnr and left the examination: hall.
(C) Rajesh forgave: Ravish becaiise: Raﬂﬁh had not only
accepted his n_ust&ke on time: but alsa had Ilﬂt let Rajegh
- ~be punished for the wmng reason. '

(D) Ravish and RH_]ESh were il college Eﬂd had been fri ends
- since childhood. Hnwever Ravish did not trust Rajesh,
(E) Another Student - Satish -~ who had seen Ravish hiding
- something in Rajesh’s desk stood up and informed the

invigilator of what he had seen S

(F ) One day Ravish decided to test Rajesh’s friendship ang
so during one of the college €xaminations Ravish wen

- early to class and hid some chits'in Rajesh’s desk.

' (G) Rajesh did not believe Satish; instead was furious tha

Satish had falsely blamed his friend and agreed that he
would leave his examination only if Ravish was kept
out of the matter. " .

(H) After the examination was OVer Ravish apologised i
Rajesh and promised that he would be a good friend

from then onwards.

56. Which of the fnllnwmg should be the FIFTH sentence after

the rearrangement ? - -
' (2) H

(1G
@QE .., - . @b
(5)C =
57. Which of the fﬂliuwmg shﬂuid be the FOURTH sentence
after the rearrangme:;}t i |
() C o S - @)D
(3) E e (4) F

58. Which of the fﬂllnwmg shnuld br: the ElGHTH (LAST

- sentence after the rearrangemem 2

a0 @2)B
“(3)C | (4)3
" (5)E .

~ 59. Which of the fallnwmg sh.uld be the FIRST sentence after |

the rear;'&r;gement e |

SE T i e, D Di

60. Which of the fnllowmg shuuld be the SECOND sentenct

after the I'Eﬂn'angemem 9
(I)A e

(2)B-
3)G
E 0




| are prfnhtd he iuw Hw

~ happy with my SONS,
_unb(‘.rrrl son h bctlﬂr tha

__:'C}nf: ﬂi thL mnmaftra

0 grcat ‘:L”i[ﬂdl‘ enjoying the
. ';_dhLlplL% “He is the most |

: :.':'.";.-.'Chlldl‘hi'l Entrust them to his care and very soon you will see
:! ibe Lhangu

. | .Thﬁ: kmg summoned Vishnu Sharman and pleaded with him

Diraﬂﬂunﬁ (ﬁ h‘?!l}

hlanks, euc hof wh:u': !: ”!; f”H”wmg Pﬂ“%’*ﬁ‘ fhff?" ¢ are ;'-:
0y Blen numhi md Th e

me numberf .

Passdge fmd agmmf {fmh five .

suggmrrd one of which /m the b!ank_'}  on

: 7(}{ 1y f:mbark

south of India: He h;I ;‘}?’ %tdtr;,l t:}l o _jﬁ_:.f_.j[}irectlﬂnﬂ (71-30) Read rhﬂ fr;fs'ﬂwmg paamge s;areﬁ;!!y':'}-._-”
LE{ WI;‘W’;_'_  and answer the quea!mnﬁ given below it Certain words,
at ‘I" k”“ f?ave been prm.!ed in bﬂ!d o help you. s'm:afe fhem ‘while
= mng, et g amwenng some. r;f the quﬂmﬂna % piog & '
“You know | am ot

ALumlmg {6 an of |f.’:&rnm g dn-:_'. A lﬂng time ago, on a big tree in the iap of the mountain,

(6’3)“__ A q{m Whﬂ-;_-; lwed 4 bird named Sindhuka. [t was a rather special bird

g?rdﬁ/phr‘a Gy are.
gp;;rupﬂ‘ur.?!y )'
e'm:h Case, _ S
Once upun_a {IH’EL Am;irtmku
Mah:larupyum in the
FONS whﬂ bLLdmL A matter of endless

...(62) ”ldt hl‘t s0ns had er Interest in |
summ-:med h:a ﬁ]lﬂi*«tcru,

(ﬁi)

and said.

nasonwhotey .
is ::-,tupld WIII brmg dnhcmuur 1o his fathe

my 4ons hi to b{., my (64),.,
+(65)..

71 turn o yﬂu f{JI‘ ddwce

...(66)..
. (67)...

. oh -venerable scholar, take pity on me and please train my

: mm Turn them into great scholars and [ will be ..
1 yﬂu all my life.” Vishnu Sharman said “Oh, king, count six
. rn(mtha from today. If I do not make your childern great

' | ._:-."__sp_l]{)idrs}, you can ask me to change my .

-(68)...

o L) TP

' .__Tﬁi;_iking-immcdiatﬂly called his sons and handed them over

i 10 the care of tne learned man. Sharman took them to his

1 mﬂndalery where he
- word, he finished the task the king entrusted to him in six

..(70)... teaching them. Keeping his

'-i-mmntha Thua the king, now, had scholars for sons.

62,
i (3) Since
. (5) Bc:mg,
1 6

-(E)dLhL

. (3 joy.
(5 ha?ard

'(3} fool

: (i) a.elf
(D) 5uc¢esq0r5
(5) Hlbflm’:,‘s |
65. (1)suggested
) cd!lcd e
x| .(5) aald
& 66,
i & g;,ldm{}ur
) respect

67.

{ 5) '-;kill
il hﬂﬂpy

(2) worry
(4) pity

(2) Beliet
(4) Realizing

“}det

(2) brilliant
(4) uneducated

(}) qtupld

(5) 5chﬂiar =y
{Z)plage . . . 4
(4) fevel .

(1) teachmg,a _:'[2) attcndance ..

i (2) [lght

€« cﬂmpetuntf_:f"-: ek

(3) casy (4) actual

. ':(2} ﬂbhge
(3) bESIdE B i ___::::Z..-.'__: g

| '-(S) dmupiﬂ

) ”m ”” ”f*’f”*”!”*tum'wmrd;juhraw m

AL L, e i e e e 5 ] "o BT -

s oy @) poinied e S n e

ﬁ9

- -_-.:_f:[ 3 ﬂlﬂthw
o 5} ltﬁf

e i Tl "m i . W ST HE N L L T
¥ : L} et el R PP
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because its ::lrﬁppmg,a turned into goid as soon as thcy hit the
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- th”“ ghdf‘ man, | 0 }’,. 4 hunter came to the free in ‘aﬁ‘dr{‘i‘l of PrL}“ ‘and he

. of hundrudﬁ. of hl'-:
person to futor your

SAW Smdhuka s droppings hit the ground and turn into g gold.
The hunter was atruck wﬂh wonder. He thought, “I have

. been hunting s birds and small animals since I was a boy, but
in all my 80 years, I have never seen such a miraculous

creature. He decided that he had to catch the bird somehow.

" He climbed the tree and skilfully set a trap for the bird. The

n
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bird, quite unaware of the danger it was in, stayed on the tree
and sang merrily. But it was séon caught in the hunter’s trap.
The hunter immediately seized it and shoved it into a cage.

The hunter took the bird home joyfully. But as he had time
to think over his good fortune Jater, he suddenly realised, “If
the king comes to know of this wonder, he will certainly
take away the bird from me and he might even punish me for
keeping such a rare treasure all to myself. So it would be
safer and more honourable if | were to go to the king and
present the unique bird to him.”

The next day, the hunter took the bird to the king and
presented it to him in court with great reverence. The king
was delighted to receive such an unusual and rare gift. He
toid his courtiers to keep the bird safe and feed it with the
best bird food available.

The King’s prime minister though, was reluctant to HCCEpi |
the bird. He said “O Rajah, how can you believe the word of
a foolish hunter and accept this bird 7 Has anyone in our
kingdom cvcr suen a bird dropping goid ? The hunter must -
be either Ll‘ﬂf}’ or tellmg lies. 1 think it 1s. bec;t that ynu_ .

releaﬁ'e the bird from the cage.” L
Aftera llttie thnught the king felt that h1s pnmc mtmster S

words were correct. Sc:u he ordered the blrd t-:- be re!eased F
_ :But as ';::mn as the door of the cage was thmwn mpcn the bird’- e
S ﬂcw cmt, peruhed itself on a nearby dnnnvdy and defecated
TG everyﬂnc 'S surpnqe the dmppmg lmmﬁ:dlateiy turned
."{_f"'mt{} gnld Th:‘: kmg mourned his loss.
-Whlch nf the f{}]lnwmg iS pﬂ%S]b!}' the mnst appmpnate tltle

Smdhuka



76: RATHER
77. RELEASE .

_78. REVERENCE

79.' RELUCTANT

- (3) Averse

o _:_-ao' SKILFULLY

- - (5) Defily

(2) Joy
% .(4) Fear

(S}IPnde
(3)- Awe \ s
3 thchefﬂaeﬁ)ﬂewmgls'l‘RUE &ccordmg tethe stery 7:

“ (1) Birds like Smdhuke were very common. in t.he area near
the mountain - -

(2) Sindhuka remained caged fer the rest ef its life.
(3) Sindhuka was unaware of the trap laid by the hunter,
(4) The king, when told to not accept the bird, did not listen

to his prime minister
(5) All are true

74, Why was the Klng S prime minister reluctant to accept the

bird ? |

(1) He believed that the bird would die if c_a”ged

() He knew about the hunter’s habit of lying -

(3) He believed that the bird would bring bad luck to the
king |

(4) His sources had informed him that the hunter was crazy

(5) None of the above

75. How did the hunter find Sindhuka ?

~ (1) He had read stories about the bird and had set trape at

various locations in the city.
(2) He followed the bird’s droppings.

(3) He was on the lookout for a prey when he chanced upon |

it.
(4) Peep]e from the city had mfermed him about the bird’s
whereabouts. -
(5) He was atfracted by the bird’s calls.
Directions (76-78) : Choose the word/group of words
which (s most similar in meaning to the word/ group of
words printed in bold as used in the passage.

(2) Quite
(4) But =

(1) Regular
. (3) Instead
“(5) Known

(2) Vacate
- (4) Let expire

(1) Free
(3) Vent
(5) Make public

@ Detaﬂ

(1) Respect
. 4 H":’I:’Ita

(3) Astemehment o
(5) Remembrance . |
Directions (79-80) : CkﬂﬂSE Ihe* werd wk:ch 1,5' most
oppoﬂte in meaning to’ the werd pnnted m bold as u,ged in

the passage.

@ Clever i f— .
| (4) Hesitant, -

(1) True

(2) Hephazardly .

1} Angril
(1) Angrily (4}Cheagply

- (3) Highly

a-z=:s;-i:zerate; wrapped e ght aga
staple for much Indian o

~ Heavy rain in the west of India. bmught a roften, harveg

81.

82.

mosthe can remember. Busi
- pickup enly a small han Hul €
wholesale eupphes ere ﬂgh _:;;'i-é-'h __

_ are soaring: In late December the

‘hampered by land restrictions, archaic retail networks ang

of 5.5% for March:

@) There is e

o ﬂ . yeer feed pmu
ree mlms.uy s
that food inflation had reached 18 'é?B%,}mh pricey vegetabio,
mostly to. blame. Ofﬁelale ha_v made some attempis 1,
temper the rise in the past memh-_s{mppme IMPOTt taxes fiy
onions, banning their export and ord ring low-priced sales
government-run shops. But there is no quick fix.

As India’s economy grows

the comme

egige N
'\.:_ ._:___1. ST L

Vegetables from further a ﬁe "_;_.Iudlng a4 politicall,
sensitive delivery from a neighboufing country - are costh
to move on India’s crowded,; pethe]ed roads. Feu |
refrigerated lorries and poor logistics mean that much of
each harvest is wasted. Newepepers ellegﬂ hoarders are |
cashing in.

The biggest problems are snueturel Feed producers.

bad infrastructure, fail to meet extra demand fror
consumers. It was estimated in .cteber that a 39% rise 1
income per person in the previous five years might have
created an extra 220 million regular consumers of milk. |
eggs, meat and fish. Supphes have not kept up with this |
potential demand. .o o
The broader inflation- rete mey be a less eye-watering |
problem than the onions suggest. The central bank has lifted |
interest rates steadily in the past year and is expected to do |
so again later this month. Headline inflation fell to 7.5% i |
November, down by Jjust over a’ percentage point from |
October, though it 1e et:ll abeve the eentral bank’s forecast |

. mpﬂﬂﬂlbie for the fncreased demand amongs |

consumers for certain: f':f:"f_: sty L

(1) There has beeu e:e??';f‘f il
thlS f O{}d S -




A) ~ (B) Land restrictions

_ -.-:;.;;.3_;'_5-.3{C) PD'DI' infrastructure for stﬂrage and transpnrtatmn
“(1) Only (B) @@ ad(C) -
e @)Mand(B) 0 (4)(B) and (C)

(5) AlL (A), (B) and (C)

| passage 7
(A) The mterest rates are being raised in Indxa

(B) India is witnessing a steady economic growth.
(C) It has been proven that the food inflation 1s mamly
- .- because of hoarding. -
- (1) All (A), (B) and ()
(3) Only (©)
(5) None is frue

(2) (A) and (B) '
{(4) (B) and (C)
85. Which of the following 1s possibly the most appropriate title
for the passage ¢ _ -
(1) Food Inflation In India  (2) Of Onions And Vendors
{(3) Food Deficit Worldwide (4) Food Imports In India '
(5) Benefits To Indian Consumers

Directions (86-90) : Each question below has two blanks,
each blank indicating that something has been omitted.
Choose the set of words for each blank which best fits the
meaﬁmg of the sentence as a whole.

86.

The water transport project on the west coast 1s ...... to geta

shot in the arm with a new plan 1n which the Road

Development Corporation will build the infrastructure and

L a private party to operate the service.

(1) scheduled, let (2) verge, permit

(3) set, sanctions (4) slated, allow

(5) bound, task

. As the weekend finally rolled around, the city folk were
only happy to settle down and laugh their cares
(1) just, afar (2) too, away

= (3) extremely, off (4) very, up

i (5) so, on |

ff,:__ " The flood of brilliant ideas has not only us, but has also

encouraged us to the last date for submission: of

= entries.

. *(1) overwhelmed, extend

- (3) dismayed, decide

;f_f:f_-'.(S) happy, boundary

llllll

llllll

(2) enjoyed, stretch
(4) scared, scrap

W ek s

over to more reliable and

llllll

Gwﬁ'lendly systems to run its pumps.
(1) Worried, shift (2) Frantic, move
(3) Troubled, jump (4) Cﬂncqrned switch

. Which of the fﬂllﬂwmg 15:"31'& TRUE in the context of the

abﬂut pmlﬂnged power cuts in urban areas, the

('5;') Endangered, click

S college
The. ff marks this year have co
'¢ hlgh e for lesser known colleges

llllll
-

||||||

ﬁl‘ changa their subject preferences. ;
(1) cajoled, ask (2) pressured, sl

(3) fﬂrced settle (4) strained, COmMpromise
(5} enfrusted, wait

utls i

91

92,

93.

94,

gy,

Directions (91—95) In each c:rf these quesrmﬂs :; ﬂumbﬂr
series is given. In each series only one number is. wrﬂng
Find out the wrong number.

3601 3602 1803 604 154 36 12
(1) 3602 {2) 1803

- (3) 604 {4) 154
- {5) 36

4 12 42 196 1005 6066 ¢$2511

(1) 12 . 24

(3) 1005 (4) 196

(5) 6066

2 8 12 20 30 42 56

(1) 38 (2) 42

(3) 30 (4)20

(5) 12

32 16 24 65 210 945 5}975

(1) 946 (2) 16

(3) 24 (4) 210
~ (5) 65

7 13 25 49 97 194 385

(113 - L w12)48
(3) 97 (4) 194

(5) 25

Mr. X invested a c:ertam amuum in Debit and Equity funds

96.

in the ratio of 4 : 5 respectively. At the end of one year, he
earned a total dividend of 30% on his investment. After one
year he reinvested the amount including dividend in the
ratio of 6 ;: 7 in Debt and Equity Funds. If the amount
reinvested in Equity Funds was < 94,500/-, what was the
original amount invested in Equity Funds ?.

{1} X 75,000/- (2) X 81,000/-
~ {3) T 60,000/- (4) T 65,000/-
(5) None of these . - |
Father’s age is 30 years more than the son’s age. Ten years

97.

hence the father’s age will become three tumes the son’s age

that time. What is son’s present age in years ?

(1) 8 2)7
- (3)5 (4) Cannot be determined
(5) None of these |
If the length of a rectangular ﬁe}d is mcreased by 20% and

- 98.

99.

the breadth is reduced by 20%, the area of the rectangle will .
be 192 m?. What is the area of the original rectangle ?

(1) 184 m? (2) 196 m*

(3) 204 m? - {(4)225 m?

(5) None of these

Inside a square plot a circular garden 1s developed which |

exactly fits in the square plot and the diameter of the garden

“1is equal to the side of the square plot which 1s 28 m. What is

the area of the space left out in the square plot after -
developing the garden ?

(1) 98 m? (2) 146 m”
(3) 84 m* (4) 168 m’
(5) None of these :
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